

Solve the equations.

1. (3pts) $7 - 3(2 + x) = 5(x + 3) - 2$

$$\begin{aligned} 7 - 6 - 3x &= 5x + 15 - 2 \\ 1 - 3x &= 5x + 13 \quad | +3x - 13 \\ -12 &= 8x \\ x &= -\frac{12}{8} = -\frac{3}{2} \end{aligned}$$

2. (6pts) $x^2 + x = 2x + 30 \quad | -2x - 30$

$$\begin{aligned} x^2 - x - 30 &= 0 \\ (x - 6)(x + 5) &= 0 \\ x &= 6, -5 \end{aligned}$$

3. (5pts) Solve the equation for t :

$$at - a = xt + x \quad | -xt + a$$

$$at - xt = x + a$$

$$t(a - x) = x + a \quad | \div (a - x)$$

$$t = \frac{x + a}{a - x}$$

$ac = 0$
prod = -8 no such
sum = -1 numbers
doesn't factor

Simplify.

4. (8pts) $\frac{4x + 7}{2x^2 + 7x - 30} - \frac{x + 1}{x^2 + 3x - 18} = \frac{4x + 7}{(2x - 5)(x + 6)} - \frac{x + 1}{(x + 6)(x - 3)}$

$$\begin{aligned} ac &= -60 \\ \text{prod} &= -60 \quad 12, -5 \\ \text{sum} &= 7 \end{aligned}$$

$$\begin{aligned} 2x^2 + 12x - 5x - 30 \\ = 2x(x + 6) - 5(x + 6) \\ = (2x - 5)(x + 6) \end{aligned}$$

$$\begin{aligned} &= \frac{(4x + 7)(x - 3) - (x + 1)(2x - 5)}{(2x - 5)(x + 6)(x - 3)} \\ &= \frac{4x^2 - 5x - 21 - (2x^2 - 3x - 5)}{(2x - 5)(x + 6)(x - 3)} = \frac{2(x^2 - 2x - 8)}{(2x - 5)(x + 6)(x - 3)} \end{aligned}$$

5. (8pts) $\frac{1 - \frac{7x + 1}{x^2 + 5x - 14}}{3 + \frac{15}{x - 2}} = \frac{\frac{x^2 + 5x - 14 - (7x + 1)}{x^2 + 5x - 14}}{\frac{3(x - 2) + 15}{x - 2}} = \frac{x^2 - 2x - 15}{x^2 + 5x - 14} \cdot \frac{x - 2}{3x + 9}$

$$= \frac{(x - 5)\cancel{(x + 3)}\cancel{(x - 2)}}{(x + 7)\cancel{(x - 2)}3\cancel{(x + 3)}} = \frac{x - 5}{3(x + 7)}$$

